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Question Number : 1 Question Id : 4410091247686 Question Type : MCQ

On 8 April 1857, which Indian soldier was hanged to death at Barrackpore for attacking his officers, sparking the first major
incident of the Revolt of 18577

Options :

4410094923931. ¥ Mangal Pandey
4410094923932, * Bahadur Shah Zafar
4410094923933, #* Kunwar Singh
4410094923934, # Rani Lakshmibai

Question Number : 1 Question Id : 4410091247686 Question Type : MCQ



1857 3 fagig B! Ugel 981 Ue1 & =0 H U SHfUBIRTT IR gHA B3 & T 8 30t 1857 I fbd HRT f &
RER & Bt e

Options :

4410094923931, ¢ T Ui

4410094923932, % TGIGR MG B

4410094923933, * HaR ¥

4410094923934, % I A&HIETS

Question Number : 2 Question Id : 4410091114734 Question Type : MCQ

Who composed the famous Hindu bhajan ‘Vaishnava Jana to Tene Kahiye’, which was popular during the Gandhian phase of the
freedom struggle?

Options :

4410094394875. ¥ Tulsidas
4410094394876. ¥ Kabir
4410094394877. ¥ Narsinh Mehta
4410094394878. ¥ Mirabai

Question Number : 2 Question Id : 4410091114734 Question Type : MCQ

T GUTH F TieRard} IR0 & SR ABRT qWE S df 99 BT 7S UG gy &) 32 T foem o) o

Options :

4410094394875, % Jadiar™
4410094394876, ¥ HER
4410094394877 ¢ ! Hgdl
4410094394878, % URTETS

Question Number : 3 Question Id : 4410091114738 Question Type : MCQ

Who established Sharda Sadan in Mumbai in 1889 and also founded 'Kripa Sadan' and 'Priti Sadan' for homeless widows?
Options :

4410094394895. # Savitribai Phule

4410094394896. * Ramabai Ranade

4410094394897. ¥ Pandita Ramabai

4410094394898. ¥ Annie Besant

Question Number : 3 Question Id : 4410091114738 Question Type : MCQ

?ﬁif?@ﬁﬁﬁw1889ﬁﬂﬁ§ﬁ¥lﬂﬂﬂﬁﬁ@ﬂﬂﬂﬁﬁ?éﬂ?ﬁ%@f$ﬁﬂ'ﬂ%‘ﬁ?'ﬂﬁﬂﬁ'ﬁw
?

Options :

4410094394895, * TIfaATaTE FHol
4410094394896, % IUTETS TS
4410094394897 ¢ TfSaT IHTETE
4410094394898, ¥ THI S

Question Number : 4 Question Id : 4410091247711 Question Type : MCQ

Amarendranath Chatterjee, active in the early 20th century, was associated with which revolutionary organisation while raising

funds across Bihar, Odisha and the United Provinces?

Options :

4410094924027. ¥ Anushilan Samiti

4410094924028. ¥ Jugantar

4410094924029. #* Hindustan Socialist Republican Association
4410094924030. * Ghadar Party



Question Number : 4 Question Id : 4410091247711 Question Type : MCQ

2091 It & RH T Tlohd SER=SATY Tl [9gR, NS 3R Tgad Uid & 449 e & IR [5d HifaeR! W I Jax
Dy

Options :

4410094924027, % 3IRITe FfAfd

4410094924028. ¢ SR (Jugantar)

4410094924029 * fFgEa ARIfere Rufeid TaIRkRH
4410094924030. ¥ TTex UTel

Question Number : 5 Question Id : 441009606470 Question Type : MCQ

Which of the following is a martial art-based folk dance performed during temple festivals in the State of Kerala?
Options :

4410092380997. ¥ Kokali

4410092380998. ¥ Ottamthullal

4410092380999. ¥ Kavadiyattam

4410092381000. ¥ Velakali

Question Number : 5 Question Id : 441009606470 Question Type : MCQ

frafoRad & @ S1F-91 Te afa Siré-senid die 7 8, 9l et Iod B TR Ial & GR fanan STl g2
Options :

4410092380997. % WHidhall (Kokali)

4410092380998. # Gh@:[ Yerfel (Ottamthullal)

4410092380999. * W@‘q (Kavadiyattam)

4410092381000. ¢ AR (Velakali)

Question Number : 6 Question Id : 441009608899 Question Type : MCQ
Gaddi Nati is a harvesting dance associated with which of the following States?
Options :

4410092390713. ¥ Himachal Pradesh

4410092390714. # Chhattisgarh

4410092390715. # Jharkhand

4410092390716. ¥ Haryana

Question Number : 6 Question Id : 441009608899 Question Type : MCQ
T@qﬁwmﬁm(harvesting)Wmﬁﬁmﬂ%,ﬁﬁmﬁ%mm@m%?
Options :

4410092390713, ¥ fgHTEd UG

4410092390714, % @T‘ﬂw

4410092390715, % SRTS

4410092390716. * gRarom

Question Number : 7 Question Id : 4410091249823 Question Type : MCQ

Shovana Narayan is a renowned Indian classical dancer associated with which dance form?
Options :

4410094932455, ¥ Bharatanatyam

4410094932456. ¥ Kathak

4410094932457, # Odissi

4410094932458, ¥ Manipuri

Question Number : 7 Question Id : 4410091249823 Question Type : MCQ



N1 AR T URIG YRS Rl TN § foriabT Taief frd T it 3 82
Options :

4410094932455, % WRATCaH

4410094932456, ¢ HYH

4410094932457, % 3Nt

4410094932458, % TG

Question Number : 8 Question Id : 441009607282 Question Type : MCQ

Dr. Vasantrao Deshpande was a legendary singer of music and Natya Sangeet.
Options :

4410092384245, * Carnatic

4410092384246. * Modern

4410092384247. # Folk

4410092384248. # Hindustani

Question Number : 8 Question Id : 441009607282 Question Type : MCQ
ST, qHRIE GRS Tiita 3R A1y Tifid & ue Uikt A A1
Options :

4410092384245, ¥ HHICH

4410092384246 % SMYAD

4410092384247, % TP

4410092384248 +# %‘g&ﬂ?ﬁ

Question Number : 9 Question Id : 441009638458 Question Type : MCQ
Which of the following Indian States falls between Bhutan and Nepal?
Options :

4410092507975. * Assam

4410092507976. * Arunachal Pradesh

4410092507977. # Mizoram

4410092507978. #" Sikkim

Question Number : 9 Question Id : 441009638458 Question Type : MCQ
frafeied 3§ § F-91 URG I Yo 3R Aurd & o fRyd 82
Options :

4410092507975. ¥ 31HH

4410092507976, % SBUMAA UG

4410092507977. % FSiRA

4410092507978. ¢ T¥fdwy

Question Number : 10 Question Id : 4410091114803 Question Type : MCQ

Why do the western coastal plains of India provide ideal conditions for the development of natural ports and harbours?
Options :

4410094395151. ¥ They are formed by extensive delta systems.

4410094395152. ¥ They have broad and sandy plains.

4410094395153. % They are submerged coastal plains with narrow belts.

4410094395154. * They are elevated rocky plateaus.

Question Number : 10 Question Id : 4410091114803 Question Type : MCQ

YRA P Ui 7T AeH Uihfae seme! 3R Tidei & faem & forg smexf qem i ueM #3d 82

Options :



4410094395151, % T IO fagd Seet yunferdl gRT Bl 8 |
4410094395152, ® 390 IS MR YNNI ASH B B
4410094395153, ¢ T Gpdt ufeat ardl e adtg Aem g1
4410094395154, % T 3 IS UBR g |

Question Number : 11 Question Id : 4410091114825 Question Type : MCQ

Why is the Great Indian Desert also known as 'Marusthali'?

Options :

4410094395239. # Tt lies in the Himalayan rain shadow region.

4410094395240. #* It is a region of high rainfall and dense forests.

4410094395241, # It has an arid climate with low rainfall and sparse vegetation.
4410094395242, # Tt is formed by the deposition of alluvial soil from Himalayan rivers.

Question Number : 11 Question Id : 4410091114825 Question Type : MCQ
faene YR Tewd o TRy & A ¥ ot o ST Sirar g2

Options :

4410094395239, * Tg feATeg & gfdem & & Ra g

4410094395240, % Tg I 9N 3R G a1 aren & g1

4410094395241, ¢ 3UD! SA TP &, I HH Il § 3R I faRd |

4410094395242, % Tg feTerdt Afeal  waie ge1 & Hau s gl

Question Number : 12 Question Id : 441009638452 Question Type : MCQ

Which of the following neighboring countries of India has a significant Moken population?
Options :

4410092507951. # Nepal

4410092507952. ¥ Bhutan

4410092507953. ¥ Myanmar

4410092507954. # Sri Lanka

Question Number : 12 Question Id : 441009638452 Question Type : MCQ
W%mma—ﬁﬁﬁmﬁm%(Moken) 3Tt 82
Options :

4410092507951, ® U

4410092507952. * Y

4410092507953 ¢ AR

4410092507954, % Hicicp]

Question Number : 13 Question Id : 441009636864 Question Type : MCQ
Which of the following extreme stations are connected by the North-South corridor?
Options :

4410092501599. # Srinagar and Mumbai

4410092501600. ¥ Srinagar and Kanyakumari

4410092501601. * Leh and Kanyakumari

4410092501602. * Jammu and Chennai

Question Number : 13 Question Id : 441009636864 Question Type : MCQ
Profied & Q $19-3 T R I ITR-ai0 TRER § 9 8

Options :

4410092501599, % TR 3R &g
4410092501600. ¢ FTR 3R HAGHART



4410092501601, ¥ T 3R HATGHRY
4410092501602. ¥ S 3R IS

Question Number : 14 Question Id : 441009637524 Question Type : MCQ

Sardar Sarovar Project will provide irrigation facilities to drought-prone areas of which four States?
Options :

4410092504239. ¥ Gujarat, Rajasthan, Maharashtra and Madhya Pradesh

4410092504240. * Uttar Pradesh, Gujarat, Rajasthan and Odisha

4410092504241. * Maharashtra, Karnataka, Gujarat and Madhya Pradesh

4410092504242. #* Madhya Pradesh, Chhattisgarh, Gujarat and Rajasthan

Question Number : 14 Question Id : 441009637524 Question Type : MCQ

TRER TR UGS fobT TR Il &b -G &= b1 Riers g uem syt
Options :

4410092504239, ¥ T[ORTd, G, HERTY 3R A& UG

4410092504240, % IR YGT, ToRTd, ISR R S

4410092504241, % FERIY, HAcap, ToRTd 3R AL U=

4410092504242, % T YT, BURATG, TORTd 3R ASTRATT

Question Number : 15 Question Id : 441009609869 Question Type : MCQ

India has been a member of which international economic organisation since 1 January 1995?
Options :

4410092394593, # International Trade Centre

4410092394594 # World Trade Organization

4410092394595. ¥ United Nations Commission on International Trade Law
4410092394596. ¥ World Trade Centers Association

Question Number : 15 Question Id : 441009609869 Question Type : MCQ

1 AT 1995 ¥ HRA o SRS snfifes Tie &1 vew 32
Options :

4410092394593, ¥ RV AMUR Fg

4410092394594, ¢ fd% IR F116

4410092394595, % TG Y SARTPTI AR A 3w
4410092394596 * fd% IR P Fu

Question Number : 16 Question Id : 441009510788 Question Type : MCQ

What is the primary focus of the Integrated Rural Development Program?

Options :

4410091998310. #* Industrial growth in rural areas

4410091998311. # Digitalisation of villages

4410091998312. ¥ Providing employment and credit to rural households below the poverty line
4410091998313. ¥ Promotion of rural tourism

Question Number : 16 Question Id : 441009510788 Question Type : MCQ

THIpd UTHI0] [T SR BT e Hisd &1 5?2
Options :

4410091998310. % TTETT & H Sfenfie fawr

4410091998311, * TTial &1 fSfSreaiiaur

4410091998312, ¢ TRYs AT § 19 T8 aTa A0 URART BT ASHTR 3R FH0T YT HRIAT
4410091998313, % IO e o) UieTied HRAT



Question Number : 17 Question Id : 441009626996 Question Type : MCQ

One of the key objectives of financial sector reforms after 1991 was:

Options :

4410092462136. # increasing RBI's direct control over credit distribution

4410092462137. ¥ reducing RBI’s role from a regulator to a facilitator of the financial sector
4410092462138. ¥ nationalisation of private banks to strengthen control

4410092462139. * fixing uniform interest rates across all banks

Question Number : 17 Question Id : 441009626996 Question Type : MCQ
1991 o §G fa<ila &1 & GURT 1 Teb THE Ie 30 1 U1

Options :

4410092462136, * hfge faaRur UR RBI &1 e a0 S@T1

4410092462137. ¢ RBI &1 YfHerT &1 foxiTa &5 & A I dead 39d JaUTdhd & ¥U & HR ol
4410092462138, % G0 9gT & forg FAsit St &1 IgTadH=0r 31

4410092462139. * Tt b} T T THH =TS &3 Fyffed s

Question Number : 18 Question Id : 441009510398 Question Type : MCQ
What is the National Infrastructure Pipeline?

Options :

4410091996750. ¥ A project to enhance agricultural productivity
4410091996751. ¥ A government plan for infrastructure investment across sectors
4410091996752. * A rural employment program

4410091996753. # An energy conservation policy

Question Number : 18 Question Id : 441009510398 Question Type : MCQ

Tl'grq SR UTSUATS (National Infrastructure Pipeline) 0T %‘?
Options :

4410091996750. % BTN IATGH A TG b U GRATSHT

4410091996751, + fafta &= o1 SraERa1 & 9w & o T IRBRY Ao
4410091996752, % T UTHIT AR HTIHH

4410091996753, % Foll Y& ifad

Question Number : 19 Question Id : 4410091114303 Question Type : MCQ

In July 2025, which state government launched the Smart Mosquito Surveillance System (SMoSS), an Al-powered initiative to
combat mosquito-borne diseases like dengue and malaria?

Options :

4410094393202. ¥ Karnataka
4410094393203. * Kerala
4410094393204. ¥ Andhra Pradesh
4410094393205. % Tamil Nadu

Question Number : 19 Question Id : 4410091114303 Question Type : MCQ

ST 2025 ¥, forg o0 TRBR 3 ST 3R AQARET SRt F=ax Sfd al @ fAuem 3 o Al-g=nfed ugd, @i 7w
TR vromet (Smart Mosquito Surveillance System - SMoSS) Y[ D1

Options :

4410094393202, ¥ Hlcd

4410094393203, ¥ HIA

4410094393204, ¢ 3{T¢ YT

4410094393205, * TP &



Question Number : 20 Question Id : 4410091114381 Question Type : MCQ

In May 2025, Google launched which Al-first 3D video communication platform that evolved from Project Starline?
Options :

4410094393510. * Google Halo

4410094393511. * Google Horizon

4410094393512. ¥ Google Beam

4410094393513. ¥ Google Vision

Question Number : 20 Question Id : 4410091114381 Question Type : MCQ

TS 2025 B, TA A HH-IT AI-TRE 3D ST TR WeHIH dr-d 61 5l Yiolde WRATSH (Starline) ¥ fIHRId gaim
Options :

4410094393510. #* Google Halo

4410094393511. * Google Horizon

4410094393512. ¥ Google Beam

4410094393513. #* Google Vision

Question Number : 21 Question Id : 4410091114324 Question Type : MCQ

Under the National Sports Governance Bill, 2025, recognised sports organisations have been brought under which legislation to
enhance transparency and accountability?

Options :

4410094393286. # Public Records Act
4410094393287. ¥ Right to Information (RTI) Act
4410094393288. # National Sports Code
4410094393289. ¥ Indian Contract Act

Question Number : 21 Question Id : 4410091114324 Question Type : MCQ

IS W TR fI80e, 2025 & TEd, URERIAT 3R SWRad@ & atH & fofg 1=l Ui Wl W61 ! fbd B &
Jed AT T 87

Options :

4410094393286, ¥ TTaSI-d ARG SHffTy

4410094393287. ¢ I BT DR (RTT) AT

4410094393288, * (PTI W Higdl

4410094393289, ¥ YR e ffAfFaT

Question Number : 22 Question Id : 4410091114331 Question Type : MCQ
In Rugby, which state emerged as the winner of the U-18 Boys’ title at the 10th
Options :

4410094393314. # Punjab

4410094393315. ¥ Bihar

4410094393316. # Karnataka

4410094393317. * Goa

Junior National Rugby 7s Championship 2025?

Question Number : 22 Question Id : 4410091114331 Question Type : MCQ

T H, -1 I 10T IR A=A 6 7s AREART 2025 H 31ER-18 SIS & RIdra &1 faodr s
Options :

4410094393314, % TS

4410094393315. ¢ fagR

4410094393316, * HCH

4410094393317. % Tdl

Question Number : 23 Question Id : 441009630539 Question Type : MCQ



Gagan Gill won Sahitya Akademi Award 2024 in which genre?
Options :

4410092476303. ¥ Poetry

4410092476304, ¥ Novel

4410092476305. ¥ Essays

4410092476306. ¥ Literary Critics

Question Number : 23 Question Id : 441009630539 Question Type : MCQ

T a0 A fw faen 3 2024 &1 A1fed SfBTGH REBR Sidl?
Options :

4410092476303. ¢ HIY

4410092476304, ¥ IUATH

4410092476305, * fAdY

4410092476306. ¥ Ifgfdre JHTARAT

Question Number : 24 Question Id : 4410091114374 Question Type : MCQ

In July 2025, which six-year national scheme received Cabinet approval to invest 324,000 crore annually for boosting agriculture
and allied sectors across 100 selected districts?

Options :

4410094393482. ¥ Prime Minister Dhan-Dhaanya Krishi Yojana
4410094393483. ¥ Pradhan Mantri Annadata Utthan Mission
4410094393484, % Rashtriya Krishi Samriddhi Abhiyan
4410094393485. * Crop Productivity and Rural Upliftment Scheme

Question Number : 24 Question Id : 4410091114374 Question Type : MCQ

ST 2025 ¥, fora sg-asfg TISHT BT 100 T Fora 7 SN 3R Tdg &5 B SeraT 33 & 1T AT 24,000 HRAS
FUY BT 0= R & g Bt o ety

Options :
4410094393482, ¢ TYUTTHAT Y-4T=0 BN IS
4410094393483, ¥ YYTTHAT Tl IUM fHRH

4410094393484, * TP PV Tl A

4410094393485, ¥ A IdTEHdl T ATHIT I ST

Question Number : 25 Question Id : 4410091114352 Question Type : MCQ

In July 2025, the National Institute for Empowerment of Persons with Intellectual Disabilities (NIEPID) signed an MoU with Jai
Vakeel Foundation to implement a structured and scalable curriculum for which group?

Options :

4410094393398, ¥ Children with visual and hearing impairments
4410094393399. ¥ Children with intellectual disabilities
4410094393400. #* Adults with physical disabilities
4410094393401. * Women with mental health challenges

Question Number : 25 Question Id : 4410091114352 Question Type : MCQ

TS 2025 B, T GH faaimor TRIfaaamRor GRIF (NIEPID) 7 o T1g & forg U TRfd ofR Ao ursr=raf any
B P foTU S Thid BIESTH & I1Y T AT I IR &R [hw?

Options :

4410094393398, % £ 3IR YquI 1A o=
4410094393399, ¢ g Gl s=

4410094393400, * YRING G g
4410094393401, % TG WG FAfa! arelt Afgamnd



General Intelligence and Reasoning

Section Id : 4410091096653
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25

Number of Questions to be attempted : 25

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 4410091100859
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 441009775218 Question Type : MCQ
Seven people, A, B, C, D, E, F, and G, are sitting in a straight line, facing the north.
A sits second from one of the extreme ends of the line. Only two people sit between A and B. C sits second to the right of B. Only

three people sit between C and D. F sits second to the left of D. E sits at one of the positions to the right of G.
How many people sit between A and G?

Options :
4410093054875. * None
4410093054876. ¥ One
4410093054877. * Two
4410093054878. * Three

Question Number : 26 Question Id : 441009775218 Question Type : MCQ

Id AfE, A, B, C, D, E, F 3R G, T Tieht ufad & S o1 ok i gl 93 5|

A, Ufa & forelt Ueh SR T G I R 931 81 $Had &l Afad A R B F AT IS &1 C, B T8 3R TR WY R 9371 8
Fad T AR C IR D F AT IS I F, D & 18 3R TR M W 43T ] 1 E, G & a3 3R ot T ™M W 9317 |
fPai ARG H T IS 82

Options :

4410093054875, ¥ Tep Ut TGt
4410093054876. ¢ TH
4410093054877, % @l
4410093054878, * oA

Question Number : 27 Question Id : 441009754633 Question Type : MCQ

Seven people I, J, K, L, G, H and O are sitting in a row, facing north. Only five people sit between O and 1. L sits to the
immediate left of I. Only one person sits between L and J. H sits at some place to the left of K but at some place to the right of G.
Who sits third from the left end of the line?

Options :

4410092972525. ¥ G
4410092972526. ¥ H
4410092972527. % O
4410092972528. # L

Question Number : 27 Question Id : 441009754633 Question Type : MCQ

qrd KT 1, I, K, L, G, H 3R 0 T Ul H IR b1 3R M@ §1hx 98 &1 barel Ui Afekd 0 iR 1S 9S8 L, 1
NP U IST 21 L 3R J S o1 Had U Afad 93181 H, K & I3 bl R TR Afp G P ¢ fobd ™A R 9071 81 ufdd
F T BR A 7R VI R P 937182

Options :

4410092972525. * G
4410092972526. ¥ H
4410092972527. % O
4410092972528. # L



Question Number : 28 Question Id : 441009775668 Question Type : MCQ

Six boxes, L, M, N, O, P, and Q, are kept one over the other but not necessarily in the same order. Q is placed at the topmost
position. N is placed immediately below P. M is placed immediately above P. L is placed second from the bottom. Which box is
placed at the bottommost position?

Options :

4410093056675. ¥ P
4410093056676. # N
4410093056677. ¥ M
4410093056678. ¥ O

Question Number : 28 Question Id : 441009775668 Question Type : MCQ

B, L, M, N, O, P 3R Q, Th P R Ueh IW U &, Al St 18| b 38 o & T MU Bl | Q Jad SR W1 AT 8|

g,P%?%:ﬂ%rww%l M, P& 3 SR W T g1 L 19 T gOR RIF UR 34 41 § | D 1H-97 S o el 3am 7t
;

Options :

4410093056675. ¥ P
4410093056676. ¥ N
4410093056677. ¥ M
4410093056678. ¥ O

Question Number : 29 Question Id : 441009755417 Question Type : MCQ

Shanti is ranked 11™ from the bottom and 39™ from the top in her class. How many students are there in her class?
Options :

4410092975661. % 47

4410092975662. # 48

4410092975663. ¥ 49

4410092975664. # 50

Question Number : 29 Question Id : 441009755417 Question Type : MCQ

Tifd ot wem B AR A 11 3R HWR W 393 WM W 71 3D FHaf H faram faameif g2
Options :

4410092975661. % 47

4410092975662. # 48

4410092975663. ¥ 49

4410092975664. * 50

Question Number : 30 Question Id : 441009757236 Question Type : MCQ

Each vowel in the word PHARAOH is changed to the letter immediately following it in the English alphabetical order and each
consonant is changed to the letter immediately preceding it in the English alphabetical order. How many letters will appear
exactly twice in the new group of letters thus formed?

Options :

4410092982937. % 0
4410092982938, # |
4410092982939, ¢ 2
4410092982940. * 3

Question Number : 30 Question Id : 441009757236 Question Type : MCQ

Ys& PHARAOH H U WR &1 3ol JUHTe hH H SHP 310 d1G dTdt 3H&R ¥ I&d fadT S 3R U o i el
JUIHTAT 8 § 3D 31 Ugd ardl 31&R ¥ 9ad [ad1 SY | $H UHR a1 31&RI & ¢ THg T favar 31&R 31 &l IR S
Options :

4410092982937. * 0



4410092982938, # |
4410092982939. + 2
4410092982940. * 3

Question Number : 31 Question Id : 441009769295 Question Type : MCQ
Refer to the following letter, symbol series and answer the question that follows. Counting to be done from left to right only.

Left)y T M € % # # B § B S D % D G &1 @ Z J # K M (Right)

How many such letters are there, each of which is immediately preceded by a symbol and also immediately followed by a
symbol?

Options :

4410093031173. " 2

4410093031174, % 3

4410093031175. * 1

4410093031176. * 4

Question Number : 31 Question Id : 441009769295 Question Type : MCQ
fafafad sier, udie y@ar &1 e o ik i 3w T Uy o1 IR difore | A draa 918 I g &t ot g |

@ 1 M € % # # B $ B SD %DGJ &I @2Z 1] # K M QN
T fordm 31gR 8, o8 & TS & 31 U8 U Udlab § 3R 3l alg ft T el g7

Options :

4410093031173. # 2
4410093031174, % 3
4410093031175. % 1
4410093031176. # 4

Question Number : 32 Question Id : 441009769558 Question Type : MCQ
Refer to the following letter series and answer the question that follows. Counting to be done from left to right only.

(Lefty XAICEFEALCZIKTZRUUWAFO (Right)

How many such consonants are there, each of which is immediately preceded by a consonant and also immediately followed by a
consonant?

Options :

4410093032225. ¢ 3
4410093032226. % 4
4410093032227. * 5
4410093032228, * 1

Question Number : 32 Question Id : 441009769558 Question Type : MCQ

fFrofafad sier @ o1 dey o SR IHd a1a faT 7T Uy &1 IR & | Ml Had a1¢ J &g &1 & |
() XAICEFEALCZIKTZRUUWAFO (30)

T fobe oo &, o d @ Udeh & 3ieh Ugel Ueh ol SR 3 a1 H Hl Ueb oM &2
35::;;283(.)32225. V3

4410093032226. * 4

4410093032227. # 5
4410093032228. # 1

Question Number : 33 Question Id : 441009775764 Question Type : MCQ



Refer to the following letter, symbol series and answer the question that follows. Counting to be done from left to right only.
(Left) KEQ% *#EQ+HHHOWUQXR/BO (Right)

How many such letters are there, each of which is immediately preceded by a letter and also immediately followed by a symbol?
Options :

4410093057059. # One

4410093057060. ¥ Two

4410093057061. ¥ Three

4410093057062. * Four

Question Number : 33 Question Id : 441009775764 Question Type : MCQ

frafoiaa sier, Udie sRaar w1 e o SR e fau 1 vy &1 IR e | At FHad a1e J 3¢ &t S g |
@) KEQ%*#EQ+HHHOWUQXR/BO (3
T foram o1eR 8, o8 O TS & 31 U8 U 318R 3R 31 a1 U Ui g2

Options :
4410093057059. % T
4410093057060. % &
4410093057061, ¢ A
4410093057062, % TR

Question Number : 34 Question Id : 441009762751 Question Type : MCQ

Refer to the following number series and answer the question that follows (all numbers are single-digit numbers only). Counting
to be done from left to right.

(Left) 121321435246357465867798819 (Right)

How many such even digits are there, each of which is immediately preceded by a perfect square and immediately followed by
an odd digit? (Note: 1 is also a perfect square.)

Options :
4410093004997. ¢ Four
4410093004998. #* Three
4410093004999. # Two
4410093005000. # None

Question Number : 34 Question Id : 441009762751 Question Type : MCQ

fafoiRaa T Y &1 Yeu o 3ik IU® a1e fAT T4 Uy &1 IR & (@ T hadt Uehd-3idia T §) | Rt ang
J T B S R

(S0) 121321435246357465867798819 ()

Y foram w1 3iw B, o8 Q@ Ud® & 31 Ugd Us quf af 31R 3t a1 Uep fawd i 82 (Ale: 1 it guf i By
Options :

4410093004997, ¢ TR

4410093004998, * i

4410093004999, % &

4410093005000. * Teh Ut TGt

Question Number : 35 Question Id : 441009804800 Question Type : MCQ

In a certain code language,

A ; B means ‘A is the father of B’,

A - B means ‘A is the sister of B’,

A * B means ‘A is the wife of B’, and
A > B means ‘A is the brother of B’.



Based on the above, how is I related to Sif T* N ; K - A>S’?
Options :

4410093173323 #* Father

4410093173324. % Sister

4410093173325. ¥ Brother

4410093173326. ¥ Mother

Question Number : 35 Question Id : 441009804800 Question Type : MCQ
T fAfdd P YW A,

A;BHI3IGFH A BRI,

A-BFTISETH A BB TEAT,

A*BHTITEF A, BRI U7, 3R
A>BHTHIEH A, BHTUL R

SUad & SMUR W, AR T* N; K-A>S 8, AT HTS I T I g2
Options :

4410093173323, % fUar

4410093173324, % dg-

4410093173325, % 4TS

4410093173326. ¢ H1al

Question Number : 36 Question Id : 441009879212 Question Type : MCQ

In a certain code language,

‘Y + Z’ means ‘Y is the brother of Z°,

‘Y * Z’ means ‘Y is the sister of Z’,

‘Y @ Z’ means Y is the mother of Z’ and
‘Y —Z’ means ‘Y is the father of Z’.

How is C related to Dif' D—-Y * C + B"?

Options :

4410093470501. ¥ Son
4410093470502. #* Brother
4410093470503. * Daughter's husband
4410093470504. * Father

Question Number : 36 Question Id : 441009879212 Question Type : MCQ
U Fi%d He Y o,

Yz B AfR By, ZBIHE R,

yrz @ ad gy, zp a8 g,
Y@z B AR F v,z A g’ 8iR
y-zar Al g e oy, zw g
gR'D-Y*C+B'8 A CH DI FTITY §?
Options :

4410093470501, « OF

4410093470502. % HTS

4410093470503. ¥ A1 &1 Ofdl

4410093470504, % O

Question Number : 37 Question Id : 441009780435 Question Type : MCQ

In a certain code language, ‘lower the voice’ is coded as ‘hm nv uk’ and ‘voice of people’ is coded as ‘xb cp nv’. How is ‘voice’
coded in the given language?

Options :
4410093075743, % uk
4410093075744. ¥ nv



4410093075745. # hm
4410093075746. ¥ cp

Question Number : 37 Question Id : 441009780435 Question Type : MCQ

LCATIER $c 'J-quTff, ‘lower the voice’ @I ‘hm nv uk’ & =0 H Wﬁﬁﬂ TPIIT% 3R “voice of people’ Pl ‘xb cp nv’ & =Y
W Feds foar T g1 Y TS U B voice’ B b UHR Heds fbaT e

Options :

4410093075743. # uk

4410093075744, ¥ nv

4410093075745. # hm

4410093075746. # cp

Question Number : 38 Question Id : 441009759590 Question Type : MCQ

In a certain code language, ‘skin input pit’ is coded as 'iv mr gy' and 'node skin loss' is coded as 'gy yp uz'. How is 'skin' coded in
that language?

Options :

4410092992353. ¢ gy
4410092992354, % iy
4410092992355, % mr
4410092992356. % yp

Question Number : 38 Question Id : 441009759590 Question Type : MCQ

LCATIEG Hc HIYT T, ‘skin input pit’ DI 'iv mr gy' oRauk:| hidx foran T § 9T 'node skin loss' 'gy yp uz' HEgH
Feag [ T g | I U H 'skin' BT 5T UHR Heag fdar S

Options :

4410092992353, ¢ gy

4410092992354, ¥ iy

4410092992355, ¥ mr

4410092992356. # yp

Question Number : 39 Question Id : 441009755758 Question Type : MCQ

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it
appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:
Some cats are pigs.
All dogs are pigs.

Conclusions:

(I): Some cats are dogs.

(I1): All pigs are dogs.

Options :

4410092977025. ¥ Neither conclusion (I) nor (II) follows.
4410092977026. * Both conclusions (I) and (II) follow.
4410092977027. ¥ Only conclusion (II) follows.

4410092977028. ¥ Only conclusion (I) follows.

Question Number : 39 Question Id : 441009755758 Question Type : MCQ
fau T HYAY 3R Fer st &t eaTgd s U | 98 WA U b Syt o <) 1S e I |, Yol 8 a8 wiHTd: Jd a
iy gcfia Bt g1, Fofa of o fow e Freaeef & @ -1/ fsm e et &7 difdhes 0§ S¥R01 Sal 8/8Rd ¢ |

DY: ]
$o faferar, ger g
Tt o, GIR 1



ﬁmﬂf: ]
0): 59 fafeert, a8l
1): T gor, A 8|

Options :

4410092977025. ¢ T A F5BY (1) 3R T € (11) SRV FHRAT B |
4410092977026. % fSF (1) 3R (1) T SITERUT R B |
4410092977027. ¥ HAd Y (IT) TRV HRAT G|
4410092977028. % BT BT (1) STIRV HRAT & |

Question Number : 40 Question Id : 441009757549 Question Type : MCQ

UYXW is related to SWVU in a certain way based on the English alphabetical order. In the same way, JNML is related to HLKJ.
To which of the given options is AEDC related, following the same logic?

Options :

4410092984189. ¥ YCBA
4410092984190. # YDAI
4410092984191. * YBAA
4410092984192. # YCAA

Question Number : 40 Question Id : 441009757549 Question Type : MCQ

3N IUTHTAT S P SMTYR WR, UYXW BT JaiY T AfAd aiis & swvu A 81 I8 UbR, INML BT I HLKJ J & 1 I8
I & AR, AEDC &1 Uael fau 7y fasredt o 9 fraa 82

Options :

4410092984189. ¥ YCBA
4410092984190. # YDAI
4410092984191. * YBAA
4410092984192. #* YCAA

Question Number : 41 Question Id : 441009745187 Question Type : MCQ

Which of the given letter-clusters should replace # and % so that the pattern and relationship followed between the letter-cluster
pair on the left side of :: is the same as that on the right side of ::?

#:WXZ:: OPR: %

Options :

4410092934504, ¥ #=VWY , % = PQS
4410092934505. ¥ #=VWY , % =PPT
4410092934506. ¥ #=VYA, % =PQS
4410092934507. # #=VWX, % = OPR

Question Number : 41 Question Id : 441009745187 Question Type : MCQ

U 7T sreR-TgT # ¥ f5ud gRI # SR % 1 YR fhdT ST ATfeq a1fh :: & a5 3R P 3HER-GHE g & o1d BT
U 3R &Y :: & a3 3R P ER-THE TH & aid & U 3R Y&y & THH 317

#:WXZ::OPR: %

Options :

4410092934504. ¢ #=VWY , % = PQS
4410092934505. # #=VWY , % =PPT
4410092934506. # #=VYA, % = PQS
4410092934507. # #=VWX, % = OPR

Question Number : 42 Question Id : 441009769205 Question Type : MCQ

Based on the English alphabetical order, three of the following four letter-clusters are alike in a certain way and thus form a
group. Which letter-cluster DOES NOT belong to that group?
(Note: The odd one out is not based on the number of consonants/vowels or their position in the letter-cluster.)



Options :
4410093030813. ¢ USS
4410093030814. #* LIJ
4410093030815. # BYZ
4410093030816. # AXY

Question Number : 42 Question Id : 441009769205 Question Type : MCQ

3SR JUiHTEr HH & YR R, FEfafed IR sier-aqgl # ¥ & e ¥ U 3 tHam § 9k 39 TSR U6 J4 991
¥ | PH-AT HER-TE 3G U Y el TE 22
([Ale: ST HeR-TYg ToT1/R] BT T2 1 3! fRufd R Smemia T8t ] 1)

Options :
4410093030813. ¥ USS
4410093030814. #* LIJ
4410093030815. ¥ BYZ
4410093030816. # AXY

Question Number : 43 Question Id : 441009757798 Question Type : MCQ

Based on the English alphabetical order, three of the following four letter-clusters are alike in a certain way and thus form a
group. Which letter-cluster DOES NOT belong to that group?
(Note: The odd one out is not based on the number of consonants/vowels or their position in the letter-cluster.)

Options :

4410092985185. ¥ RVQ
4410092985186. ¥ JMI
4410092985187. ¥ KNIJ
4410092985188. ¥ ZCY

Question Number : 43 Question Id : 441009757798 Question Type : MCQ

ST qUTATET HH & YR TR, FEfRed IR sieR-Tgg! & ¥ & te Ffdd 0 3 THaaH ¢ SR 39 UHR U6 4 941
%|ﬁ=rma+&ﬂw§wgqﬁwfﬁaqﬁ%?
(Fle: SRATA MR- SHoI/RR! &1 T-T a1 39! fRUfd R aenfyd 781 ] 1)

Options :

4410092985185. ¥ RVQ
4410092985186. * JMI
4410092985187. ¥ KNI
4410092985188. ¥ ZCY

Question Number : 44 Question Id : 441009754683 Question Type : MCQ
What should come in place of (?) in the given series based on the English alphabetical order?

QVP TYS WBV ZEY?
Options :
4410092972725. + CHB
4410092972726. ¥ CHL
4410092972727. # CHO
4410092972728. ¥ CHZ

Question Number : 44 Question Id : 441009754683 Question Type : MCQ
S{USH qUIATE o & SHTYR TR & 715 47l | (2) & VI TR T 37T IMMgW?



QVP TYS WBV ZEY?

Options :

4410092972725.
4410092972726.
4410092972727.
4410092972728.

Question Number : 45 Question Id : 441009860864 Question Type : MCQ
Identify the figure given in the options which when put in place of the question mark (?) will logically complete the series.

+ CHB
% CHL
% CHO
= CHZ

] — | 1] oo |[— 0000 000000 [ ?
[
Options :
o0 O
00 O
4410093396506. *
000000
0000
4410093396507. +*
000000
4410093396508. +*
00000000
4410093396509. #

Question Number : 45 Question Id : 441009860864 Question Type : MCQ

frafefed 3§ @ 9 H-31 enpfa 8, o/ uy-faw (2) & RIM R @A W §ad difdhds &0 3 I 81 et

(+1e]

Q000

ocoo0Oo[

?

Options :




oo
o0
[+ ] +]
[+]

4410093396506. *=

000000

0000
4410093396507. =

000000
4410093396508. =

00000000

4410093396509. ¥

Question Number : 46 Question Id : 441009861168 Question Type : MCQ
Select the correct mirror image of the given figure when the mirror is placed at MN as shown below.

M

Options :

4410093397722. ¥

4410093397723. =

4410093397724. =



4410093397725, #

Question Number : 46 Question Id : 441009861168 Question Type : MCQ

FRATTAR YUl 1 MN TR 3 S TR =i €t 778 3M1epfd o |el qUur Ufdfeld o1 = Hifery |
M

Options :

4410093397722, &

4410093397723, *

4410093397724, # A

4410093397725, *

Question Number : 47 Question Id : 441009989911 Question Type : MCQ

If “A’ stands for ‘+’, ‘B’ stands for ‘x’, ‘C’ stands for ‘+’ and ‘D’ stands for ‘—’, then what will come in place of question mark (?)
in the following equation?

7B 2D38A2C 4=?
Options :

4410093911899. * 12
4410093911900. ¢ 14
4410093911901. # 16
4410093911902. #* 18

Question Number : 47 Question Id : 441009989911 Question Type : MCQ
A A BT 3 8, B BT 3 x &, ‘¢ BT 3 + AU D B 3% — &, Y e Feitenzor  uy-forg (2) b WM W
T ATIT?

7B 2D&8A2C 4=?
Options :

4410093911899. # 12
4410093911900. # 14



4410093911901. # 16
4410093911902, * 18

Question Number : 48 Question Id : 441009989931 Question Type : MCQ

Each of the digits in the number 7845312 is arranged in ascending order from left to right. What will be the sum of the digits
which are second from the left and second from the right in the new number thus formed?

Options :

4410093911979. ¢ 9
4410093911980. #* 10
4410093911981. % 11
4410093911982. * 12

Question Number : 48 Question Id : 441009989931 Question Type : MCQ

AT 7845312 H, YA 3l DI 91U J 1T SRIG! hH H HafRUd bl Sl & | 37 YR a1 3 T H 910 I g8 3R &g
U G D! BT ANTH fdaT g2

Options :

4410093911979. " 9

4410093911980. * 10

4410093911981. * 11

4410093911982. * 12

Question Number : 49 Question Id : 441009989457 Question Type : MCQ

What should come in place of the question mark (?) in the given series?
5 11 18 26 35 ?

Options :

4410093910081. % 44
4410093910082. ¥ 45
4410093910083. # 46
4410093910084, # 47

Question Number : 49 Question Id : 441009989457 Question Type : MCQ
& TS oy B uy-f (2) & RIF IR 1 I

5 11 18 26 35 ?
Options :

4410093910081. # 44
4410093910082. ¥ 45
4410093910083. # 46
4410093910084. # 47

Question Number : 50 Question Id : 441009989837 Question Type : MCQ
What should come in place of the question mark (?) in the given series?

9 19 30 42 55 9
Options :

4410093911607. * 68
4410093911608. ¥ 69
4410093911609. #* 70
4410093911610. * 71

Question Number : 50 Question Id : 441009989837 Question Type : MCQ
& T2 e § Uy (7) & R W FT T



9 19 30 42 55 ?
Options :

4410093911607. * 68
4410093911608. ¥ 69
4410093911609. # 70
4410093911610. # 71

Numerical Aptitude
Section Id : 4410091096654
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 4410091100860
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 441009539336 Question Type : MCQ

A Physics test was taken by 77 students in a class. Out of them, 24 students scored an average of 59, while the remaining students
scored an average of 56. Find the overall average score of the entire class, rounded to one decimal place.

Options :

4410092112740. ¥ 56.9
4410092112741. # 63.3
4410092112742. * 66.6
4410092112743. ¥ 55.1

Question Number : 51 Question Id : 441009539336 Question Type : MCQ
T Fal H 77 faenfilai 3 +ifcret ot olten <t S0 9, 24 foeniifal & ofad sid 59 8, Tafas v faeniifal & ofad i 56
€| TqUf Fef &1 JHY 3 3idh (GRHTd & U R & Qulifosd) I1d Hiforg|

Options :

4410092112740. ¥ 56.9
4410092112741. # 63.3
4410092112742. # 66.6
4410092112743. # 55.1

Question Number : 52 Question Id : 441009539738 Question Type : MCQ

In what ratio must a grocer mix two varieties of wheat worth 364 per kg and 102 per kg so that, if he sells the mixture at 111
per kg, he may gain 11%?

Options :

4410092114348. # 1 : 18
4410092114349. % 3:19
4410092114350. % 1:22
4410092114351, % 11:23

Question Number : 52 Question Id : 441009539738 Question Type : MCQ

TP UARI &1 264 UM kg 3R 2102 Ui kg T aTel 15 $I & fooedll Bl fop Ut § a1 anfeq dtfos, afe ag fAsor &t
111 Ufd kg BT &x I o, A I 11% BT AT U 81?2

Options :
4410092114348. # 1 : 18
4410092114349. % 3:19



4410092114350. # 1:22
4410092114351, % 11:23

Question Number : 53 Question Id : 441009516897 Question Type : MCQ

A man has invested 350,000 at a rate of 6% per annum simple interest for 3 years. Find the amount (in ) that he will receive
after 3 years.

Options :

4410092023007. ¥ 59,000
4410092023008. ¥ 9,000
4410092023009. # 60,000
4410092023010. #* 10,000

Question Number : 53 Question Id : 441009516897 Question Type : MCQ

T Sl = 250,000 BT YRR BT 6% TN JTERUT TS B & T 3 a8 & forg (3w far| 3 av a1g I8 U g4 arait
¢RI (3 ) T PO

Options :

4410092023007. " 59,000

4410092023008. * 9,000

4410092023009. * 60,000

4410092023010. * 10,000

Question Number : 54 Question Id : 441009573293 Question Type : MCQ

The compound interest earned in 1 year on %3,20,000 at the rate of 20% per annum, compounded quarterly, is:
Options :

4410092248292. ¥ 368,962

4410092248293, ¥ 268,597

4410092248294, # 68,367

4410092248295. # 69,447

Question Number : 54 Question Id : 441009573293 Question Type : MCQ

%3,20,000 BT YRR TR FATRIS T J TARAT H ATl 20% IIMH X F 1 T BT Fehgfex TS 1 BHifor|
Options :

4410092248292. ¥ 368,962

4410092248293. * 368,597

4410092248294, # 268,367

4410092248295, # 269,447

Question Number : 55 Question Id : 441009521087 Question Type : MCQ
Evaluate: 11 —12+3 x 2

Options :

4410092039767. +# 3

4410092039768. # 2

4410092039769. * 4

4410092039770. * 1

Question Number : 55 Question Id : 441009521087 Question Type : MCQ

11— 12 =3 x 2 &I & DI

Options :

4410092039767. ¥ 3
4410092039768. # 2
4410092039769. % 4



4410092039770. % 1

Question Number : 56 Question Id : 441009533880 Question Type : MCQ

If the 6-digit number N42M40 is divisible by 11, which of the options below can give a possibly correct relation between M and
N?

Options :

4410092090916. ¥ M — N =2
4410092090917. ¥ M =N
4410092090918. # M +N =35
4410092090919. ¥ M-N=1

Question Number : 56 Question Id : 441009533880 Question Type : MCQ

Tfe 6-3P1T T/AT N42M40, 11 T faursd §, @ 2 fou U et & @ S9-91 fddey, M 3R N & oi" IHad: I8! Iay
e IR Gl 82

Options :

4410092090916. ¥ M — N =2

4410092090917. % M=N

4410092090918. ¥ M+N=5

4410092090919. ¥ M-N =1

Question Number : 57 Question Id : 441009524855 Question Type : MCQ
Three numbers are in the ratio 7 : 2 : 15, and their LCM is 6510. Their HCF is:
Options :

4410092054839, « 31

4410092054840. * 63

4410092054841. * 23

4410092054842. % 53

Question Number : 57 Question Id : 441009524855 Question Type : MCQ

AT 7:2: 15 F SUIT A &, 3R IHT TLTH JHIGI (LCM) 6510 § | ITHT HETH THIIAIH (HCF) I1d DI
Options :

4410092054839. ¥ 31

4410092054840. * 63

4410092054841. * 23

4410092054842, # 53

Question Number : 58 Question Id : 441009857351 Question Type : MCQ
A number, when decreased by 27%, gives 3650. The number is:

Options :

4410093382376. ¥ 5000

4410093382377. ¥ 5400

4410093382378. ¥ 5500

4410093382379. # 4800

Question Number : 58 Question Id : 441009857351 Question Type : MCQ
foreft TR & 27% BT HH FIA W 3650 U SIll ¢ | I HSAT J1d Biforg|
Options :

4410093382376. ¥ 5000

4410093382377. ¥ 5400

4410093382378. ¥ 5500

4410093382379. # 4800



Question Number : 59 Question Id : 441009859316 Question Type : MCQ

70% of 50% of% of a nmumber is 378, The munber is:
Options :

4410093390236. ¥ 3240

4410093390237. % 4450

4410093390238. ¥ 6210

4410093390239. ¥ 6850

Question Number : 59 Question Id : 441009859316 Question Type : MCQ
et e % ¥ 5005 BT 70%, 378 &1 TBT TG HIfoT

Options :

4410093390236. ¥ 3240
4410093390237 # 4450
4410093390238. # 6210
4410093390239. ¥ 6850

Question Number : 60 Question Id : 441009565051 Question Type : MCQ

A shopkeeper incurs a loss of 55% if he sells an article for ¥7,821. What price must he sell the article at in order to gain 15% on
that article?

Options :

4410092215324, ¥ 19,987
4410092215325. ¥ 219,985
4410092215326. ¥ 219,988
4410092215327. # 19,986

Question Number : 60 Question Id : 441009565051 Question Type : MCQ

IS T GHMCR hl avg BI 27,821 T ST &, AT I 55% D1 g1 glahl o | ST a¥g TR 15% BT ATH 31foid H=A & g 39
I B! 5T Jeg W =1 A2

Options :

4410092215324, ¢ 219,987

4410092215325. ¥ 219,985

4410092215326. * 219,988

4410092215327. # 219,986

Question Number : 61 Question Id : 441009561683 Question Type : MCQ

Arvind bought an article for Ix. He sold it to Biru at a loss of 30%. Biru spent X157 on its transportation and sold it to Minu at a
profit of 60%. If Minu bought it for 1,920, what is the value of x?

Options :

4410092201999. # 1,490
4410092202000. * 1,473
4410092202001. * 1,503
4410092202002. * 1,498

Question Number : 61 Question Id : 441009561683 Question Type : MCQ

3RfAE 7 Ue ag 2x T WG I T 30% BT W 1% &1 99 37| fi= 3 39 uikaga W 2157 T [T 3R 3 60% &
Y W W B o fean| afe @A 39 21,920 T @ET, 1 x BT T J1d Biford|

Options :
4410092201999. # 1,490
4410092202000. * 1,473



4410092202001. # 1,503
4410092202002, # 1,498

Question Number : 62 Question Id : 441009893758 Question Type : MCQ

A shopkeeper offers her customers a discount of 26% on her articles, and she still makes a profit of 45%. What is the marked
price (in ) of an article if its cost price is I481?

Options :

4410093529102. ¥ 942.50
4410093529103. % 921.37
4410093529104. ¥ 1,067.42
4410093529105. #* 1,115.29

Question Number : 62 Question Id : 441009893758 Question Type : MCQ

TP GHMGR 0 TG B T TSN TR 26% P FT TGH Bl 6, 3R T U 8 45% BT a1y Sifofd dxar g1 afg
o<t o o1 70 T k481 ©, a1 39T 3ifdhd e (X T) I1d HIfor|

Options :

4410093529102. % 942.50

4410093529103. ¥ 921.37

4410093529104. * 1,067.42

4410093529105. * 1,115.29

Question Number : 63 Question Id : 441009536859 Question Type : MCQ

The marked price of a cooker is the same at shops I, II, IIT and IV. Shop I allows two successive discounts of 36% and 74%, shop
II allows successive discounts of 69% and 86%, shop I1I allows successive discounts of 21% and 95% and shop IV allows
successive discounts of 99%, 98% and 62% on the marked price of the cooker. Which shop is selling the cooker at the lowest
price?

Options :

4410092102832. ¥ Shop IV
4410092102833. * Shop III
4410092102834. *¥ Shop II
4410092102835. ¥ Shop I

Question Number : 63 Question Id : 441009536859 Question Type : MCQ

SHMI L I1, 11 3R IV IR TP FHax BT 3ifhd Jed THH 8| gHM I, THR & 3Hfdhd Jou WR 36% 3R 74% 1 Q1 it e
TS T 8, GPM I, TR P 3ifhd Ted W 69% 3R 86% B HHB B Ta Bl §, DM 11, IR & 3ifohd Ted |
21% 3R 95% B AP Fe USH B! 8, 3R GHH IV, FAR P 3Hfhd T W 99%, 98% 3MR 62% P 1 HiHd Fe UaH
FRA 8 | HH-T gHM FHR DI gAdH Jod IR 99 a1 82

Options :

4410092102832, ¥ ghIT IV
4410092102833, #* gdT I
4410092102834, # GhI 11
4410092102835. # ghI 1

Question Number : 64 Question Id : 441009899215 Question Type : MCQ

Ajay and Mohit together have 31,050. On taking %150 from Ajay, Ajay will have the same amount as what Mohit had earlier.
Find the ratio of the amounts with Ajay and Mohit initially.

Options :

4410093550930. ¢ 4 : 3
4410093550931. * 5:4
4410093550932, # 7:6
4410093550933, # 6: 5



Question Number : 64 Question Id : 441009899215 Question Type : MCQ

3T 3R Wfed P U $ FHATHR 21,050 T 1 319TF J 1150 A IR, 31oTT P U a1 & AR g1t et Mg & oy wead
| 3roTg SR TR & U L& | forait M 2R, 3T Sura J1d Hifor|

Options :

4410093550930. ¢ 4 : 3

4410093550931, % 5: 4

4410093550932. % 7: 6

4410093550933, % 6: 5

Question Number : 65 Question Id : 441009899911 Question Type : MCQ

Ani, Bin and Dik start a business by investing 313,860, 316,380 and 18,900, respectively. Ani's share in the total profit is
%4,620. The difference in the profit shares of Bin and Dik is:

Options :

4410093553714. ¥ 2800
4410093553715. ¥ 3840
4410093553716. # 895
4410093553717. * 3900

Question Number : 65 Question Id : 441009899911 Question Type : MCQ

3T, fomT 31 fa HHRT: 713,860, 316,380 3TR 218,900 BT FAX FReb Ueh HAUTI YRE HRdl ¢ | o arH H 311 &7 iy
24,620 8| To7 oIk fow & oy & ol o ofak I i

Options :

4410093553714. % %800
4410093553715. ¥ 3840
4410093553716, * %895
4410093553717. % %900

Question Number : 66 Question Id : 441009547817 Question Type : MCQ

Pushpraj and Himani together invested 342,400 in a business. At the end of the year, out of a total profit of 8,000, Pushpraj's
share was X1,000. What was the investment of Pushpraj?

Options :

4410092146664. ¢ 25,300
4410092146665. * 34255
4410092146666. * 34,435
4410092146667. * 25,705

Question Number : 66 Question Id : 441009547817 Question Type : MCQ
QERTST 3R 3T 7 firdes? U saawma & 242,400 &1 A foram| a8 & ofd #, 28,000 & Fad aH H J, ORI &1 iR
21,000 YT GSIRTS gIRT fobarm 71 f+4a=T 1 shiforg |

Options :

4410092146664. ¥ 25,300
4410092146665. # 34255
4410092146666. * 34,435
4410092146667. # 5,705

Question Number : 67 Question Id : 441009900059 Question Type : MCQ

A tap can fill a tank in 24 minutes and another can empty it in 12 minutes. If the tank is already half full and both the taps are
opened together, the tank will be:

Options :

4410093554306. * Filled in 12 minutes
4410093554307. ¥ Emptied in 12 minutes
4410093554308. #* Filled in 10 minutes



4410093554309. ¥ Emptied in 10 minutes

Question Number : 67 Question Id : 441009900059 Question Type : MCQ

U T forddl Eht Bl 24 fiFe T 4R vl § IR ORI 7 9 12ﬁﬂfﬁ@1?ﬁwm%w%eaﬁmﬁaﬂeﬁuﬂ§€%
3R G 7 T 1Y W@l feu o, ot St

Options :

4410093554306, * 12 fie & WR STElt
4410093554307. ¢ 12 fiFe o e gf St
4410093554308, * 10 e & W= ST@R
4410093554309, * 10 fie o @reh g1 S

Question Number : 68 Question Id : 441009518824 Question Type : MCQ

A and B working together can do a piece of work in 6 days. B alone can do the same work in 24 days. How long (in days) will A
alone take to do double the work?

Options :

4410092030715. + 16
4410092030716. # 17
4410092030717. # 8
4410092030718. # 19

Question Number : 68 Question Id : 441009518824 Question Type : MCQ

A 3R B TR it 1 &1 6 TG B R R v 8| B 3l 31 B &1 24 TG R IR THaT 81 A BT 3hal It
B BT QT BT dxA | fova1 98 (A1 #) T

Options :

4410092030715. # 16

4410092030716. * 17

4410092030717. * 8

4410092030718. * 19

Question Number : 69 Question Id : 441009896638 Question Type : MCQ

Siddhant walks to his office 3 km away from home. In the morning, he covers the distance in 2.5 hours whereas, while returning
home in the evening, he takes 60 more minutes to cover the same distance. Find his average speed (in km/h) during the two-way
journey.

Options :
4410093540622. # |
4410093540623. # 1.5
4410093540624, % 2
4410093540625. * 2.5

Question Number : 69 Question Id : 441009896638 Question Type : MCQ

RIGId TR Y 3 km R 30 ST dF Uad SITdl ¢ | I8 98 T8 G 2.5 e T T Hdl 8, Tafhs UM $I R dled JH7T 39
B g T B H 60 e 31 wma €1 1 femms & 3uat T (km/h ) F1d PITTI

Options :
4410093540622, ¢ 1
4410093540623. * 1.5
4410093540624, % 2
4410093540625. * 2.5

Question Number : 70 Question Id : 441009899883 Question Type : MCQ

A car is travelling at the rate of 60 km/hr. This car covers a distance of 600 m in T seconds. The value of T is:
Options :

4410093553602, # 45



4410093553603. ¥ 36
4410093553604, # 52
4410093553605. * 40

Question Number : 70 Question Id : 441009899883 Question Type : MCQ
TH BR 60 km/hr 1 A0 Y T G181 T8 PR T AHS H 600 m 1 G a0 Bl g | T BT AF 1 SHiforg|

Options :

4410093553602. # 45
4410093553603. ¥ 36
4410093553604 # 52
4410093553605. ¥ 40

Question Number : 71 Question Id : 441009896705 Question Type : MCQ

A 110 m long train overtakes a man moving at a speed of 7 km/h (in the same direction) in 22 seconds. How much time (in
seconds) will it take this train to completely cross another 365 m long train that is moving in the opposite direction at a speed of
20 km/h?

Options :

4410093540890. ¥ 38
4410093540891, # 46
4410093540892, # 48
4410093540893. ¥ 29

Question Number : 71 Question Id : 441009896705 Question Type : MCQ

TH 110 m G ISATMS! 7 km/h B A1 F (3T fo=n &) =dd 7@ T afad o1 22 s & UR a8 | 39 Yera! ol faudia
fa=T ™ 20 kn/h D1 T T I 51 365 m el T = XHTS! bl T a8 U UR A F fobe=1 997 (Jdbe T) TN

Options :

4410093540890. ¥ 38
4410093540891. # 46
4410093540892 # 48
4410093540893. ¥ 29

Question Number : 72 Question Id : 441009592114 Question Type : MCQ

The area of a trapezium is 284 cm?. The length of its parallel sides are x cm and 85 cm with a perpendicular distance of 4 cm
between them. Determine the value of x.

Options :

4410092323573, % 54
4410092323574, % 59
4410092323575. ¥ 57
4410092323576. ¥ 67

Question Number : 72 Question Id : 441009592114 Question Type : MCQ

wwwagﬂa (trapezium) T é’aﬂw284 cm? %I WW H\_SITS‘ﬁaﬂ?ngx cm 3R 85 cm% 3R 3P ol dead
& 4 om § 1 x BT AME 1 BT

Options :

4410092323573. # 54

4410092323574. #* 59

4410092323575, ¢ 57

4410092323576. # 67

Question Number : 73 Question Id : 441009601974 Question Type : MCQ



The volume of a cone with base radius r cm and height h em is 476 em®. What is the volume (in ¢cm?3) of a cone with

. T .
base radius 7 om and height 2h em?

Options :

4410092363013. ¥ 53¢
4410092363014. * 744
4410092363015. * 949
4410092363016. * 234

Question Number : 73 Question Id : 441009601974 Question Type : MCQ
YR ST r em 3R HATS h om A T AP BT TITH 476 cm? 81 YR BT L om 3R SHATS 2h om T G BT
2

A (cm? 7 a1 82
Options :
4410092363013. ¥ 53¢
4410092363014. # 244
4410092363015. * 749
4410092363016. * 734

Question Number : 74 Question Id : 441009592060 Question Type : MCQ

The ratio of the volume of a cube to that of a sphere, which will exactly fit inside the cube, is:
Options :
4410092323357, % 5
4410092323358. # 4 .
4410092323359. ¥ ¢ .

4410092323360. * g .

A4 3 3 3

Question Number : 74 Question Id : 441009592060 Question Type : MCQ

TP T & 3 3R T A & A BT ST, S 8 & 3fer I ave o fbe ghm, gl
Options :
4410092323357, % 2 -
4410092323358. #* 4.
4410092323359. ¥ 5 .

4410092323360. * g .

4 3 33

Question Number : 75 Question Id : 441009592282 Question Type : MCQ

A solid metallic cone of height 12 cm and radius of base 15 cm is melted to make spherical balls each of 6-cm diameter. How
many such balls can be made?

Options :

4410092324245, « 25
4410092324246. ¥ 50
4410092324247, % 75
4410092324248. * 125

Question Number : 75 Question Id : 441009592282 Question Type : MCQ

12 om $ATS 3R 15 cm 3TYR 3501 aTe TH S 4T & P P! FUIAHR 6 om T a1 TMEHR e, a8 Il & | T
foat 1S SIS o Favelt g2

Options :
4410092324245, « 25




4410092324246, # 50
4410092324247, % 75
4410092324248. % 125
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Question Numbers : (76 to 80)
Read the given passage carefully and answer the questions that follow.

In 1970, India set in motion the ‘White Revolution,’ the world’s biggest dairy development programme, led by Dr. Verghese
Kurien. ‘Operation Flood’, as it is otherwise known, transformed the dairy-deficient nation into the global leader in milk
production. For the millions living in rural India, milk farming became the largest source of employment and income. India
boasted the highest cattle population in the 1960s, yet it ranked among the lowest milk producers in the world. Between 1961 and
1970, total milk production had barely moved from 20.4 million tonnes to 20.8 million tonnes. Instead, the country relied on
large scale imports to meet its requirements. To address this growing dairy crisis, a cooperative milk movement was launched in
three phases over three decades, steered by social entrepreneurs, political leaders and millions of milk farmers. The idea was
simple: To leave out the middleman and bridge the gap between dairy farmers and consumers. This way, the consumer paid a
lower price and the spoils of the labour could directly benefit the farmer. Ultimately, farmers would feel incentivized to boost
milk production, and a growing population would get access to more types of milk products.

Sub questions

Question Number : 76 Question Id : 441009419461 Question Type : MCQ

What was the main tactic employed by the pioneers of Operation Flood to increase milk production?
Options :

4410091642098. ¥ To remove the middlemen between dairy farmers and consumers
4410091642099. ¥ To increase the import of foreign dairy products

4410091642100. * To reduce the number of dairy farmers

4410091642101. * To establish government-run milk factories

Question Number : 77 Question Id : 441009419462 Question Type : MCQ
Identify the tone of the passage.

Options :

4410091642102. ¥ Objective and factual

4410091642103. ¥ Emotional and persuasive

4410091642104. % Pessimistic and doubtful

4410091642105. * Sarcastic and humorous

Question Number : 78 Question Id : 441009419463 Question Type : MCQ
How did India manage to meet its milk and dairy requirements in the 1960s?
Options :

4410091642106. ¥ By promoting small-scale milk production in rural areas
4410091642107. ¥ By importing such products from foreign nations
4410091642108. * By exporting dairy products to other countries



4410091642109. # By relying on local dairy cooperatives

Question Number : 79 Question Id : 441009419464 Question Type : MCQ
In how many phases was the cooperative milk movement launched?

Options :

4410091642110. * Four

4410091642111, # Two

4410091642112, ¥ Three

4410091642113. * Five

Question Number : 80 Question Id : 441009419465 Question Type : MCQ

Select the most appropriate synonym of the word "incentivized" as used in the passage?
Options :

4410091642114. ¥ Supported

4410091642115. # Criticised

4410091642116. # Restricted

4410091642117. % Punished

Question Id : 441009419460 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (76 to 80)
Read the given passage carefully and answer the questions that follow.

In 1970, India set in motion the “White Revolution,’ the world’s biggest dairy development programme, led by Dr. Verghese
Kurien. ‘Operation Flood’, as it is otherwise known, transformed the dairy-deficient nation into the global leader in milk
production. For the millions living in rural India, milk farming became the largest source of employment and income. India
boasted the highest cattle population in the 1960s, yet it ranked among the lowest milk producers in the world. Between 1961 and
1970, total milk production had barely moved from 20.4 million tonnes to 20.8 million tonnes. Instead, the country relied on
large scale imports to meet its requirements. To address this growing dairy crisis, a cooperative milk movement was launched in
three phases over three decades, steered by social entrepreneurs, political leaders and millions of milk farmers. The idea was
simple: To leave out the middleman and bridge the gap between dairy farmers and consumers. This way, the consumer paid a
lower price and the spoils of the labour could directly benefit the farmer. Ultimately, farmers would feel incentivized to boost
milk production, and a growing population would get access to more types of milk products.

Sub questions

Question Number : 76 Question Id : 441009419461 Question Type : MCQ

What was the main tactic employed by the pioneers of Operation Flood to increase milk production?
Options :

4410091642098. ¥ To remove the middlemen between dairy farmers and consumers
4410091642099. # To increase the import of foreign dairy products

4410091642100. ¥ To reduce the number of dairy farmers

4410091642101. * To establish government-run milk factories

Question Number : 77 Question Id : 441009419462 Question Type : MCQ
Identify the tone of the passage.

Options :

4410091642102. ¥ Objective and factual

4410091642103. ¥ Emotional and persuasive

4410091642104. ¥ Pessimistic and doubtful

4410091642105. * Sarcastic and humorous

Question Number : 78 Question Id : 441009419463 Question Type : MCQ
How did India manage to meet its milk and dairy requirements in the 1960s?
Options :

4410091642106. ¥ By promoting small-scale milk production in rural areas
4410091642107. ¥ By importing such products from foreign nations



4410091642108. ¥ By exporting dairy products to other countries
4410091642109. ¥ By relying on local dairy cooperatives

Question Number : 79 Question Id : 441009419464 Question Type : MCQ
In how many phases was the cooperative milk movement launched?

Options :

4410091642110. * Four

4410091642111, # Two

4410091642112, ¥ Three

4410091642113. * Five

Question Number : 80 Question Id : 441009419465 Question Type : MCQ

Select the most appropriate synonym of the word "incentivized" as used in the passage?
Options :

4410091642114. ¥ Supported

4410091642115. # Criticised

4410091642116. ¥ Restricted

4410091642117. % Punished

Sub-Section Number : 2
Sub-Section Id : 4410091100862
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 441009482127 Question Type : MCQ
Select the most appropriate option to fill in the blank.

This is most expensive car in the showroom.
Options :

4410091883857, # a

4410091883858. # an

4410091883859. ¥ the

4410091883860. * No article required

Question Number : 81 Question Id : 441009482127 Question Type : MCQ
Select the most appropriate option to fill in the blank.

This is most expensive car in the showroom.
Options :

4410091883857 ¥ a

4410091883858. # an

4410091883859. ¢ the

4410091883860. * No article required

Question Number : 82 Question Id : 441009122034 Question Type : MCQ
Which article is most appropriate to fill in the blank in the given sentence?

He kept asking for  pizza he saw advertised, so his mother ordered it from a local pizza outlet.
Options :

441009485102. # Only 'a' is appropriate.

441009485103. ¥ Only 'an' is appropriate.

441009485104. ¢ Only 'the' is appropriate.

441009485105. * Both 'a' and 'the' are appropriate.

Question Number : 82 Question Id : 441009122034 Question Type : MCQ



Which article is most appropriate to fill in the blank in the given sentence?

He kept asking for  pizza he saw advertised, so his mother ordered it from a local pizza outlet.
Options :

441009485102. ¥ Only 'a' is appropriate.

441009485103. ¥ Only 'an' is appropriate.

441009485104. ¢ Only 'the' is appropriate.

441009485105. * Both 'a' and 'the' are appropriate.

Question Number : 83 Question Id : 441009145972 Question Type : MCQ
Select the most appropriate article to fill in the blank. If no article is needed, select 'No article required'.

They bought adorable teddy bear from the toy store.

Options :

441009579758. " an

441009579759. ® a

441009579760. % the
441009579761. ¥ No article required

Question Number : 83 Question Id : 441009145972 Question Type : MCQ
Select the most appropriate article to fill in the blank. If no article is needed, select "No article required'.

They bought adorable teddy bear from the toy store.

Options :

441009579758. ¢ an

441009579759. ¥ a

441009579760. # the
441009579761. ¥ No article required

Question Number : 84 Question Id : 441009146347 Question Type : MCQ
Select the most appropriate option to fill in the blank.

The students were talking

Options :

441009581226. ¥ neatly

441009581227. ¥ noisily
441009581228. # sleepily
441009581229. # costly

Question Number : 84 Question Id : 441009146347 Question Type : MCQ
Select the most appropriate option to fill in the blank.

The students were talking

Options :

441009581226. ¥ neatly

441009581227 ¥ noisily
441009581228. ¥ sleepily
441009581229. # costly

Question Number : 85 Question Id : 441009482200 Question Type : MCQ



Select the most appropriate option to fill in the blank.

He is the player in our team.
Options :

4410091884149. ¥ fastest

4410091884150. * tall

4410091884151. * big

4410091884152. * driest

Question Number : 85 Question Id : 441009482200 Question Type : MCQ
Select the most appropriate option to fill in the blank.

He is the player in our team.
Options :

4410091884149, ¥ fastest

4410091884150. * tall

4410091884151. * big

4410091884152. * driest

Question Number : 86 Question Id : 441009482259 Question Type : MCQ
Select the most appropriate option to fill in the blank.

The menu offers a variety of dishes.
Options :

4410091884385. ¥ wide

4410091884386. * clean

4410091884387. * heavy

4410091884388. # warm

Question Number : 86 Question Id : 441009482259 Question Type : MCQ
Select the most appropriate option to fill in the blank.

The menu offers a variety of dishes.
Options :

4410091884385. ¥ wide

4410091884386. #* clean

4410091884387. * heavy

4410091884388. # warm

Question Number : 87 Question Id : 441009479787 Question Type : MCQ
Select the most appropriate adjective to fill in the blank.

The flowers bloomed in the spring.

Options :

4410091874497 ¥ fragrant
4410091874498. % stinky
4410091874499. % strong
4410091874500. % stale

Question Number : 87 Question Id : 441009479787 Question Type : MCQ
Select the most appropriate adjective to fill in the blank.

The flowers bloomed in the spring.



Options :

4410091874497 ¢ fragrant
4410091874498. # stinky
4410091874499. * strong
4410091874500. # stale

Question Number : 88 Question Id : 441009479825 Question Type : MCQ
Select the most appropriate option to fill in the blank.

We expected that she would visit the college soon.
Options :

4410091874649. ¢ had

4410091874650. * have

4410091874651. * has

4410091874652. * were

Question Number : 88 Question Id : 441009479825 Question Type : MCQ
Select the most appropriate option to fill in the blank.

We expected that she would visit the college soon.
Options :

4410091874649. ¢ had

4410091874650. * have

4410091874651. * has

4410091874652, # were

Question Number : 89 Question Id : 441009149856 Question Type : MCQ

Parts of a sentence are given below in jumbled order. Arrange the parts in the correct order to form a meaningful sentence.
(1) as soon as the lights went out,

(2) a sudden scream echoed

(3) sending chills down everyone’s spine

(4) across the empty hallway,

Options :

441009595138, ¥ 1-2-4-3
441009595139. ¥ 1-4-2-3
441009595140. ¥ 2-1-3-4
441009595141, ¥ 1-2-3-4

Question Number : 89 Question Id : 441009149856 Question Type : MCQ

Parts of a sentence are given below in jumbled order. Arrange the parts in the correct order to form a meaningful sentence.
(1) as soon as the lights went out,

(2) a sudden scream echoed

(3) sending chills down everyone’s spine

(4) across the empty hallway,

Options :

441009595138, ¥ 1-2-4-3
441009595139, # 1-4-2-3
441009595140. ¥ 2-1-3-4
441009595141, % 1-2-3-4

Question Number : 90 Question Id : 441009430136 Question Type : MCQ
Parts of a sentence are given below in jumbled order. Arrange the parts in the correct order to form a meaningful sentence.

P. mixed with water and other ingredients
Q. looks like a giant blender to be



R. loaded into a pulper which
S. at the paper mill the paper bale is

Options :

4410091680062. ¥ SRQP
4410091680063. # RSQP
4410091680064. ¥ SRPQ
4410091680065. # PSQR

Question Number : 90 Question Id : 441009430136 Question Type : MCQ
Parts of a sentence are given below in jumbled order. Arrange the parts in the correct order to form a meaningful sentence.

P. mixed with water and other ingredients
Q. looks like a giant blender to be

R. loaded into a pulper which

S. at the paper mill the paper bale is

Options :

4410091680062. ¥ SRQP
4410091680063. * RSQP
4410091680064. ¥ SRPQ
4410091680065. ¥ PSQR

Question Number : 91 Question Id : 441009428541 Question Type : MCQ
Select the option that can be used as a one-word substitute for the given group of words.

A person who knows and is able to speak in several languages
Options :

4410091673682. ¥ Polyglot

4410091673683. ¥ Bibliophile

4410091673684. ¥ Glutton

4410091673685. #* Bibliophobia

Question Number : 91 Question Id : 441009428541 Question Type : MCQ
Select the option that can be used as a one-word substitute for the given group of words.

A person who knows and is able to speak in several languages
Options :

4410091673682. ¥ Polyglot

4410091673683. ¥ Bibliophile

4410091673684. #* Glutton

4410091673685. #* Bibliophobia

Question Number : 92 Question Id : 441009433602 Question Type : MCQ
Select the option that can be used as a one-word substitute for the given group of words.

A person or behaviour that is bad and impossible to change or improve
Options :

4410091693926. * Illegible

4410091693927. * Indelible

4410091693928. * Incredible

4410091693929. # Incorrigible



Question Number : 92 Question Id : 441009433602 Question Type : MCQ
Select the option that can be used as a one-word substitute for the given group of words.

A person or behaviour that is bad and impossible to change or improve
Options :

4410091693926. # Tllegible

4410091693927. # Indelible

4410091693928. # Incredible

4410091693929. ¥ Incorrigible

Question Number : 93 Question Id : 441009433611 Question Type : MCQ
Select the option that can be used as a one-word substitute for the given group of words.

the quality of seeming true or of having the appearance of being real
Options :

4410091693962. #* Fictional

4410091693963. #* Fabrication

4410091693964. ¥ Verisimilitude

4410091693965. ¥ Incredibility

Question Number : 93 Question Id : 441009433611 Question Type : MCQ
Select the option that can be used as a one-word substitute for the given group of words.

the quality of seeming true or of having the appearance of being real
Options :

4410091693962. # Fictional

4410091693963. ¥ Fabrication

4410091693964. ¥ Verisimilitude

4410091693965. ¥ Incredibility

Question Number : 94 Question Id : 441009121056 Question Type : MCQ
Select the most appropriate meaning of the given proverb.

Look before you leap.

Options :

441009481242. ¥ Be adventurous and take chances.

441009481243, % Always jump to conclusions.

441009481244. ¥ Consider the potential consequences before taking action.
441009481245. # Never be afraid of heights.

Question Number : 94 Question Id : 441009121056 Question Type : MCQ
Select the most appropriate meaning of the given proverb.

Look before you leap.

Options :

441009481242. % Be adventurous and take chances.

441009481243, ¥ Always jump to conclusions.

441009481244, « Consider the potential consequences before taking action.
441009481245. # Never be afraid of heights.

Question Number : 95 Question Id : 441009187836 Question Type : MCQ
Identify the idiom that fits the given situation.

The runaway convict had had nothing for many days, he ate excessively when offered food by the little girl.



Options :

441009741606. # To sell like hot cakes
441009741607. ¢ To eat like a horse
441009741608. * To let the bag out of the bag
441009741609. # To go the extra mile

Question Number : 95 Question Id : 441009187836 Question Type : MCQ
Identify the idiom that fits the given situation.

The runaway convict had had nothing for many days, he ate excessively when offered food by the little girl.

Options :

441009741606. ¥ To sell like hot cakes
441009741607 ¥ To eat like a horse
441009741608. ¥ To let the bag out of the bag
441009741609. # To go the extra mile

Question Number : 96 Question Id : 441009152486 Question Type : MCQ
Select the most appropriate proverb that can substitute the underlined segment in the given sentence.

Though I was never good at studies; however this term I worked really hard and became the topper of my class; the boys who
used to make fun of me are speechless now.

Options :

441009605099. ¥ Empty vessels make the most noise.
441009605100. ¥ A friend in need is a friend indeed.
441009605101. * As you sow so shall you reap.
441009605102. ¥ He who laughs last, laughs best.

Question Number : 96 Question Id : 441009152486 Question Type : MCQ
Select the most appropriate proverb that can substitute the underlined segment in the given sentence.

Though I was never good at studies; however this term I worked really hard and became the topper of my class; the boys who
used to make fun of me are speechless now.

Options :

441009605099. ¥ Empty vessels make the most noise.
441009605100. ¥ A friend in need is a friend indeed.
441009605101. ¥ As you sow so shall you reap.
441009605102. ¢ He who laughs last, laughs best.

Question Number : 97 Question Id : 441009113087 Question Type : MCQ
Select the most appropriate ANTONYM of the highlighted word in the given sentence.

She remained placid despite the chaos around her.
Options :

441009449907. % Calm

441009449908. ¥ Anxious

441009449909. # Mysterious

441009449910. ¥ Sad

Question Number : 97 Question Id : 441009113087 Question Type : MCQ
Select the most appropriate ANTONYM of the highlighted word in the given sentence.

She remained placid despite the chaos around her.



Options :

441009449907. ¥ Calm
441009449908. ¥ Anxious
441009449909. # Mysterious
441009449910. ¥ Sad

Question Number : 98 Question Id : 441009100227 Question Type : MCQ
Select the most appropriate synonym of the underlined word in the given sentence.

The politician’s speech was full of rhetoric.
Options :

441009398858. ¢ Eloquence
441009398859. #* Clumsiness
441009398860. * Arrogance
441009398861. * Strength

Question Number : 98 Question Id : 441009100227 Question Type : MCQ
Select the most appropriate synonym of the underlined word in the given sentence.

The politician’s speech was full of rhetoric.

Options :

441009398858. ¥ Eloquence
441009398859. #* Clumsiness
441009398860. * Arrogance
441009398861. # Strength

Question Number : 99 Question Id : 441009152746 Question Type : MCQ
Select the correctly spelt word to fill in the blank.

The thief, feeling deep remorse for his actions, soon realised that his antipathy towards the affluent was what had
beguiled him into committing the crime.

Options :

441009606143. ¥ contrite
441009606144, ¥ contrete
441009606145. # contreit
441009606146. ¥ contreite

Question Number : 99 Question Id : 441009152746 Question Type : MCQ
Select the correctly spelt word to fill in the blank.

The thief, feeling deep remorse for his actions, soon realised that his antipathy towards the affluent was what had
beguiled him into committing the crime.
Options :

441009606143. ¥ contrite
441009606144. % contrete
441009606145. ¥ contreit
441009606146. ¥ contreite

Question Number : 100 Question Id : 441009152759 Question Type : MCQ
Select the correctly spelt word to fill in the blank.

The thief decided to abandon his old ways, but later tried to abscond with the stolen money; however, the
police officer quickly adapted to the tricky situation and caught him.

Options :
441009606195. ¥ adamant



441009606196. # adament
441009606197. ¥ ademant
441009606198. ¥ adement

Question Number : 100 Question Id : 441009152759 Question Type : MCQ
Select the correctly spelt word to fill in the blank.

The thief decided to abandon his old ways, but later tried to abscond with the stolen money; however, the
police officer quickly adapted to the tricky situation and caught him.

Options :

441009606195. ¥ adamant
441009606196. ¥ adament
441009606197. ¥ ademant
441009606198. ¥ adement



